CHAMBERLAIN GAME TABLES

0O
TI

PG-4095/PG-4096/PG-4105




Part List
Top Marble Front foot lever
1 piece 1 piece 1 piece 1 piece
% () D (O)dadociggi @

Side foot lever
1 pieces

5/16” Bolts
14 pieces

5/16” Bolts
4 pieces

5/16” Spring washer
18 pieces

79

5/16” Washers
18 pieces

710

£,

Wrench
18 piece

Bl

10x30 Wood plug
2 piece







STEP:3




